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The ornithine cycle was

discovered by

(1) T. Ornithine

(2) Krebs and Hensleit

(3) T. Ornithine and Brooker
(4) Prosser and J. Nireberg

Which one of them is not a
peptide nature neurotransmitter ?
(1) Serotonin

(2) B-endorphin

(3) Dymorphin

(4) Somatostatin

The propagation rate of action
potential of nerve depends on

(1) Myelinated axon

(2) Axon diameter

(3) Insulation by glial cells
(4) All of these

Which kind of cells occurs in
abundance in nervous system ?
(1) Interneuron cells

(2) Motor neuron cells

(8) Sensory neuron cells

(4) Glial cells

Menstrual fluid is non-clotting
due to the presence of :
(1) Heparin

(2) Hirudin

(3) Fibrinolysin

(4) Thrombinostabilizin

Which one of them is antagonist
of progesterone using as abortive
agent ?

(1) Nor-ethindrone

(2) Nor-ethyriodrel

(3) Ethinyl estradial

(4) Mifepristone
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. Which

Which one of them hormone
secrets by renal tissues ?

(1) Renal zymogen

(2) Prorenin

3) Somatostatin

(4) Erythropoietin

Oxygen saturation of venous blood is
(1) 25%

(2) 50%

(3) 100%

4) 75%

Which one of them is affecting
the urine output ? -

(1) Vasopressin hormone

(2) Gonadotropic hormone
(3) Water intake

(4) Osmotic state of the blood

Which one of them nutrient
supplement given to the pregnant
women for curing the anaemia ?
(1) Vitamin C

(2) Vitamin D

(3) Folic acid

(4) Cyanocobalamin

pH of lysosome interior is
(1) 10-12

(2) 8-10

3) 5-7

4 4-5

is more abundant in
R.ER. ([Rough Endoplasmic
Reticulum) ?

(1) Cisternae

(2) Vessicle

(3) Annulate E.R.

(4) Both (1) & (2)
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| 13. A glycoprotein within a plasma'"

membrane has which of the
following characteristics ?

(1) Attaches to cytoskeleton
proteins. 7

(2) Oriented towards the
environment.

(3) Peripherally attached to the
membrane.

(4) Found both the membrane
leaflets.

Which one of them is not a cell
adhesion molecule ?

(1) Selectin

(2) Laminin

(3) Cadherein

(4) Immunoglobin subfamily

The genes family of umu C, umu
D and Rec A are involving in the
following process :

(1) SOS DNA repair

(2) Recombinational repair

(3) Reverse transcription

(4) Transcription
The properties of selectins
adhesion molecules is

(1) Selectins on one cell interacts
with a carbohydrate
containing ligand on another
cell.

Selectins mediate
matrix adhesion.
Selectins have
binding.
Selectins are transmembrane
proteins; other  adhesion
molecule as intracellular.

2 cell to

3) homophilic

“@
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The plasma membrane is
detected to have caveolae. These
structures are
(1) Cholesterol-enriched
membrane invaginations.
(2) Components of phospholipids.
(3) Regions with high
carbohydrate content.
(4) Regions of
dominating content.

protein

A microtubule is observed quickly
after a period of rapid growth.
Which of the following most
likely occupied to this
microtubule to stimulate its
break down ?

(1) Loss of its GTP

(2) Loss of ATP

(3) Severing by gelsolin

(4) Twisting of cofilin

Mitochondrial matrix contains
(1) Enzymes

(2) DNA & RNA

(3) Ribozyme

(4) All of these

Cell organelles have content of
DNA is/are

(1) Nucleolus

(2) Plastid

(3) Mitochondria

(4) All of these

Ki67 is
target for
(1) Hyperthyroidism

(2) Cancer

(8) Gastrointestinal problem
(4) Headache and nausea

molecular diagnostic



22.

23.

24.

E 4 | 9 8 HIATER 3Us ¥e¥ <
TR = sl T wew % witwl @
et SR A R ?

(1) TR 1 f=m

(2) & %1

(3) stAM =1 rew

(4) ied 1 fm

I a5 T HIEHRE 1 8 8

(1) et e

(2) JHE

(3) e I gl 3
(4) Juef

e 1 e e A @

(1) SvEt ey & et & s 3
A I5, S T A1 BT SAHR BT
g |

(2) I JAATY H TG 1 a9
Fars s W 9 ol B 8

(3) 3vS Torary § WU HT T AferH
& Bl & I JefaTg hY g A |

(4) I JATY F T § HiSH H
AT &1 AT IqH R i @,
3t ATy hl gAT A |

— S — S——. S T—_ —— T ] W — —

| 29,

23.

24.

Which one of them rule explained
that geographical races of species
inhabiting cold areas are much
larger as compared to their
warmer counterparts ?

(1) Gloger’s rule
(2) Allen’s rule
(3) Bergman’s rule

(4) Jordan’s rule

Source of Phosphorus in aquatic
system is

(1) Urban drainage
(2) Fertilizers
(3) Weathering of phosphorus

containing rocks
(4) All of these

The Allen rule is explaining that
(1) The extremities such as the

tail, ears and legs of
mammals are shorter in
colder climates

(2) The weight and height are
heavy and longer of
mammals in warmer

climates.

The colouration of rabbits is
darker in colder climates
with comparison to warm

@3

climates.

(4) The food content is more
consumed by warmer
climates mammals in
comparison to colder
climates.
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Transformation of nitrite to
nitrate is governed by

(1) Nitrobacter sp.

(2) Nitrosomonas

(3) Nitrococcus

(4) None of these

The many animals including
insects, birds and mammals bear
darker pigmentation in warm
humid climates that explained by
(1) Gloger’s rule

(2) Allen rule

(8) Jordan’s rule

(4) Rensch’s rule

The race of birds inhabiting
colder region develop relatively
narrower and more accumulate
wings than those in warmer
climate is explained.

(1) Allen’s rule

(2) Gloger’s rule

(3) Bergmann’s rule

(4) Jordan’s rule

Which of the following is the best
indicator of SO, pollution ?

(1) Pinus

(2) Ferns

(3) Lichen

(4) Algae

Both undercrowding (low density)
and overcrowding (high density)
are deleterious and limiting to
growth rate of the population is
explained by

(1) Allee’s principle

(2) Homberg’s principle

(3) Shelford’s principle

(4) Liebling’s principle
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Ecological pyramids were first
time explained by

(1) Charles Elton

(2) Charles Ervin

(3) Charles Edison

(4) Charles Emersion

The smallest size of a cell which
can be seen with unaided eye is
(1) 1 micron

(2) 10 microns

(3) 100 microns -

(4) 1000 microns

Which stain is used for electron
microscopy ?

(1) PAS

(2) Para Rosailin

(8) Osmium tetra oxide

(4) Hematoxylin

Which is a pre-requisite for
electron microscope ?

(1) Vacuum

(2) Living material

(3) Source of light

(4) Reflector

Scanning electron microscope is
used for

(1) Topography of cell/tissue

(2) System analysis

(3) Fluorescent

(4) Organ system

Chromatography is based on the
principle of

(1) Passage at different rates

(2) Adsorption at different rates
(3) Reactivity of biochemicals

(4) Both (1) and (2)
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(3) 3.4-5.47fe

(@) T APE T
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Polymerase @ Chain  Reaction

(PCR) required

(1) Nucleotides

(2) Magnesium chloride
(3) Buffer

(4) All of these

In PCR DNA amplification
process buffer pH required

(1) 8.3-8.8

(2) 6.00

3 7.4

(4) 69-72

Primer annealing required
temperature is

(1) 15°-35°C

(2) 45°-175°C

(8) 55°-65°C

(4) 25°-35°C

DNA polymerase
required in PCR is
(1) 1-2.5 units

(2) 5-6.00 units

(3) 3.4 — 5.4 units
(4) None of these
Primers quantity
PCR s

(1) 0.5-1.0uM

(2) 2.5-3.0 M
(3 1-1.5uM

@) 2.1-25uM

quantity

required in

Restriction are
synthesized by

(1) Bacteria only

(2) Yeast and Bacteria

(3) Eukaryotic cells

(4) All kinds of cells

enzymes
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In PCR DNA denaturation
temperature is

(1) 95°C for 1 min
(2) 50 °C for 2 min
(3) 63 °C for 3 min
(4) 45 °C for 10 min

ab

PubMed is
(1)
(2)

Literature citation database
Medcow neuro-disorder disease

(3) Hogness box with specific
sequence
(4) Terminator sequence  of

downstream site

What is ORFs (Open Reading
Frame) ?

(1) Continuous groups of
adjacent codons that starting
with ATG and ending with
TGA, TAA or TAG.

The sequence of non-specified
DNA which cannot replicate
as well as conserve itself
from surrounding degrading

@)

agents.

(3) The smallest unit of DNA
sequence that represent
fundaments.

(4) Longest sequence.

Ribozyme is -
(1) Ribosome and protein

(2) Protein which consisting with
ribosome

(3) DNA
(4) RNA molecule,
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Centimorgan is [
(1) Part of drosophila eye
marked pigment.

(2) One percent recombination
between two genes.

(3) The material of which
chromosomes are composed.

(4) A unit of DNA cloning.

powers  of

Resolving eye,
compound microscope and
electron microscope are
respectively

(1) 100 pm, 0.25 pm and 10 A
(2) 100 pm, 100 nm and 100 A
(3) 1 mm, 10 pm and 100 nm
(4) 1 mm, 0.5 pm and 1 A

Main source/s of nitrogen content
in lake is/are

(1) Rocks

(2) Atmosphere
(3) Photosynthesis
(4) All of these

Which one of the not involving in
extracellular signalling ?

(1) Cyclic AMP

(2) Autocrine

(3) Paracrine

(4) Endocrine

Cell signalling pathway following
by T-lymphocyte in response to
antigenic stimulation ?

(1) Endocrine signalling

(2) Juxtacrine signalling

(3) Paracrine signalling

(4) Autocrine signalling
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Which one of them is not interact?
with cell surface receptor ?

(1) Gastrin

(2) Glucagon
(3) Testosterone
(4) Insulin

Which one of them G-protein
regulate the growth of the cell ?

(1) Rho
(2) Ras
(3) Ran
(4) Rab

Chemical signalling is performed
by

(1) Autocrine signalling

(2) Synaptic transmission

(3) Paracrine signalling

(4) Autostimulation

Which one of them is incorrect
statement about G protein ?

(1) G proteins become activated
when bound to GDP.

(2) Guanine nucleotides regulate
G proteins.

(8) G proteins are involved in
signal cascades.’

(4) All of these ~~*"

Which one of the following is not
a functional protein ?

(1) Keratin
(2) Urease
(3) Amylase
(4) Invertase

. LE
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Variable which can be expresse.
numerically are called

(1) Continuous variable
(2) Quantitative variable
(3) Qualitative variable
(4) Absolute variable

Colour of animal is

(1) Continuous variable
(2) Absolute variable

(3) Qualitative variable
(4) Quantitative variable

The most common plasmid vector
used in genetic engineering is

(1) pBR325

(2) pBR328

(3) pBR322

(4) pBR335

H,0, degrading enzyme is
(1) Lipases
(2) Succinate dehydrogenase

(8) Catalase
(4) Glutathione succinate cyclase

Which enzyme acts on PIP, and
produces IP; and DAG ?

(1) Protein kinase C
(2) Adenylyl cyclase
(3) Phospholipase C
(4) Kinases

The Chloroplast DNA is

(1) Like the nuclear DNA
(2) Single stranded linear
(3) Double stranded circular
(4) Single stranded circular
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Which one of them is serving as
secondary messenger ?

(1) Protein kinase A

(2) Ion channel

3) Cyclic AMP

4) GABA

Association of two species depend
upon each other is known as

(1) Parasitism

(2) Commensalism

(3) Mutualism

(4) Symbiosis

Which one of them is receiving
the maximum energy in energy
flow ?

(1) Primary consumer

(2) Secondary consumer

(3) Tertiary consumer

(4) Producers

The association of algae and
fungi in lichen is describing by

(1) Parasitism

(2) Symbiosis

(3) Mutualism

(4) Commensalism

An ecological niche normally
occupied by

(1) A small community

(2) Fast growing species

(3) Competing species

(4) None of these

Which one of them ecosystem has
lowest production ?

(1) Shallow ocean

(2) Grassland

(3) Deep oceans

(4) Moist forest
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The area where two ecosystems
meet and blend each other is
known as

(1) Niche

(2) Edge effect

(38) Ecotone

(4) Ecotype

All living organisms of earth
constitute

(1) Biome

(2) Biosphere

(8) Community

(4) Association

Bhopal Gas tragedy caused by
leakage of

(1) Isocyanic acid

(2) Isopropyl thiocyanate

(3) Methyl isocyanate

(4) Chlorofluorocarbon

Minamata disease caused by
pollution of water by

(1) Copper isocyanides
(2) Zink

(38) Mercury

(4) Oil spill out in sea

Species that caused by
Geographical isolation is known
as

(1) Sympatric

(2) Allopatric

(3) Heteropatric

(4) Geopatric

Bottom dwelling animals are
known as :
(1) Arboreal

(2) Gigantic

(3) Benthos

(4) Bottom philopatric
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75.

76.

77.

When was the UNESCO~
launched “Human and the
Biosphere” program ?

(1) 1981

(2) 1971

(3) 1975

(4) 1983

The term biocenosis given by

(1) Karl Mobius
(2) T.N. Huxley
(3) M.P.N. Thumbaville
(4) T. Rajan Viravallie

Which of the

enzymes ?

(1) Gastrin, Lipase & Trypsin

(2) Renin, Trypsin & Amylopsin

(3) Enterokinase, Lipase &
Trypsin

(4) Pepsin, Lipase & Trypsin

following are

Which one of them is nobel prize
winner in the field of enzyme
discovery ?

(1) Buchner
(2) Flemming
(3) Altman
(4) Alexander

Which one of the following vein
has minimum amount of urea ?

(1) Hepatic portal vein

(2) Pulmonary vein

(3) Renal vein

(4) Hepatic extra portal vein



82.

83.

19 % T W YAaTY] T 1Y) 6T Aud
% ]

(1) 1:200

(@) 1:150

(3) 2:350

(4) 1:500

. IR Emrenfen desia @ i

B A T o STen
(1) Iferep ATadte
(2) =W AT
(3) 15 Tita &l
(4) qHM TS

. IS TS uTE STt @

(1) Zwa FieRaiad
(2) Frerlt &ed

(3) Rm

(4) e fifa

wAaTRE! % ¥¢F § g anfer v e
¥ nex frarfer aea A @

(1) € IH e

2) feaert area

8) Traw aea

@) T A HE T

Al F1 98 W Y M TN JE
ST BRI BT o7 T 8

(1) 3

(2) SN

3) W™

(@) Rrfes e

[y
~

79.

80.

81.

82.

(o o]
[IL]

Ratio of leukocytes and red blood
cells in human blood is

(1) 1:200
(2 1:150
3) 2:350
(4) 1:500

If haemoglobin replaced by
hemocyanin then the blood will
carry

(1) More oxygen
(2) Less oxygen
(8) No change
(4) Equal oxygen

Chordae tendinae is occurs in
(1) Truncus arteriosus

(2) Ventricles of heart

(3) Vein

(4) Auricles wall

Trilobed valve occur between
right atrium and ventricle in
mammalian heart is

(1) Semi-lunar valve
(2) Bicuspid valve
(3) Tricuspid valve

" (4) None of these

. The part of neurons that perform

basic cellular functions, such as
protein synthesis are the

(1) Dentrites

(2) Axon

(3) Somas

(4) Synaptic knobs
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7
=

Meissner’s corpuscles are fqud
i e
(1) Liver N
(2) Pancreatic acinies

(3) Skin

(4) Neurons

Jacobson’s organ in amphibia is
known as

(1) Gastrointestinal plexus

(2) Temporal brain axis

(3) Vemero-nasal organ

(4) Testicular epidydimal plexus
Nocturnal animals have

(1) Cones cells are more

(2) Rods cells are more

(3) Cones cells are absent

(4) Equal numbers of cones and
rod cells

Hearing is better in rabbit than
frog due to

(1) Three semi-circular canals
(2) Tympanic membrane

(3) Movable pinna

(4) Fenestra ovalis

Philadelfia chromosome is found
in the patients suffering from

(1) Leukaemia

(2) Colour-blindness

(3) Gastrointestinal diseases
(4) Pellagra

Mitotic apparatus consisting of
(1) Spindle fibre

(2) Astral rays

(3) Centriole

(4) All of these

R o1
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Which one of them has absence of
DNA content ?

(1) Mitochondria

(2) Tobacco Mosaic Virus
(3) Bacteriophage virus
(4) Chloroplast

Which one of these phase longest
in interphase ?

(1) Synthetic Phase
(2) G, (first gap period)

~ (8) G, (second gap period)

(4) All of these are of same
duration.

The G, phase of the cell cycle is
describing that

(1) m-RNA synthesis

(2) Cytoplasm division

(3) Maximum growth of cell

(4) Cytoplasmic splitting

The functional unit of DNA is
(1) Deoxyribose sugar

(2) Purine

(3) Pyrimidine

(4) Cistron

Genes are

(1) Histone molecules created
structure :

(2) Lipoprotein

(3) Polynucleotide

(4) Glycoprotein and histones
(= |
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The concept of interferons given
by

(1) Paulberg and Jakobson

(2) Morgan and Knoll

(3) Isaac and Lindenmann

(4) Wilson and Walker

Thalassemia is caused by -
(1) Point mutation

(2) Autosomal dominance
(3) Gross mutation

(4) Autosomal recessive

Resolving power of Scanning
Electron Microscopy (SEM) is

1) 2nm

(2) .1nm

(3) 20 nm

(4) 10nm

Fourier transform in
spectroscopy is working based on

(1) Used to calculate spin-spin
splitting. :

(2) Used to calculate chemical
shift.

(3) Convert electron transition
into signal.

(4) Convert time domain to

frequency domain.

The unit of absorbed dose of
radioactive material

(1) Gray

(2) Rem

(3) Roentgen
(4) Sievert
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The assessment of gene reveals
20% of the nucleotide are C
residues, then the percentage
value of A + T is

(1) 60 %

2 20%

3) 45%

4 40%

Which one of them substance

normally fail to cross cell
membrane under any
circumstances ?

(1) DNA

(2) Water

(8) Fatty acid

(4) Ethanol

Collagen is rich in

(1) Glycine and proline

(2) Glycine and glutamate

(3) Glutamine and arginine

(49) Glutamine and leucine
Which one of them
chromatography technique
suitable for separation of
albumins ?

(1) Ion exchange chromatography
(2) Paper chromatography

(3) Gel filtration chromatography
(4) Hydrophobic chromatography

. The reagent using in thin layer

chromatography for amino acids
(1) Bromophenol

(2) Coomassie brilliant blue

(3) Ninhydrin

(4) Ethidium bromide
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Molecular technique using for
separation of same molecular
weight proteins.

(1) Affinity chromatography
(2) Ion exchange chromatography
(3) Gel filtration chromatography

(4) SDS PAGE Electrophoresis

DNA protein interaction can be
performed by using

(1) Gel filtration

(2) Gel shift assay

(3) DNA finger-printing
(4) Dialysis

The technique using for the study
of metalloenzymes oxidation
reduction state of metal in
Electron Transport System is

(1) Electron spin resonance
(2) Magnetic resonance imaging
(3) Crystallography

(4) Fourier transform spectroscopy

Which one of these is IR (Infra-
red) active compound ?

1) CO
(2) H,
(3 N,
@ O,
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Which one of these technique
using for the study of interacting
residues n protein-ligand
interaction ? 3

(1) X-ray crystallography

(2) CD spectroscopy

(8) Fluorescence spectroscopy
(4) MRI

Tiger can be found in the
following protected area of
Rajasthan :

(1) Sariska Wildlife Sanctuary
(2) Ranthambore National Park
(3) Keoladeo National Park

(4) All of these

Which of the following can be
used as a marker of inner
mitochondrial membrane ?

(1) Succinate dehydrogenase
(2) ATP synthase

(8) Succinyl Co-A synthase
(4) Cardiolipin

Xeroderma
human is
mutation by

(1) Photoreactivation

(2) Nucleotide excision repair
(3) Base excision repair

(4) Mismatch repair

pigmentosum in
associated with a

Which one of these layer has
highest biota ?

(1) Epilimnion

(2) Metalimnion
(3) Hypolimnion
(4) Aphotic zone
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73/

114. Which one of them is known as
Kornberg enzyme ?

(1) DNA ligases

(2) DNA polymerase |

(8) Topoisomerases — II (Gyrases)
(4) Restriction endonucleases

115. Which one of the water reservoirs

has highest Biological Oxygen
Demand ?

(1) Oligotrophic
(2) Eutrophic

(3) Dystrophic
(4) Mesotrophic

116. Function of Golgi complex is/are
(1) Sorting and Packaging
(2) Secretion

(3) Biogenesis of lysosome
(4) All of these

117. Who was first time propos

semi-conservative DNA replication
(1) Watson and Crick

(2) McCarty and Jagdish

(3) Friedrich Meister

(4) Meselson and Stahl

. Bombykol is
(1) Hormone
.(2) Pheromone
(3) Enzyme
(4) Protein
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120.

121.

122,

123.

. Kumbhalgrah

Sunderban Wildlife Sanctuary is
located at

(1) Uttarakhand
(2) Karnataka
(3) West Bengal
(4) Telangana

Shikari Devi Wildlife Sanctuary
is located at

(1) Telangana

(2) Bihar

(3) Maharashtra

(4) Himachal Pradesh

Which one of the animal extinet
recently ?

(1) Pterodactyl

(2) Leopard

(3) Dodo

(4) Mammoh

The program
was started by
(1) Dhirubhai Ambani
(2) Sundarlal Bahuguna
(3) Baba Amte

(4) Amrita Devi Vishnoi

“Vanmahotsava”

Which one of these is incorrect ?
(1) Manas — Assam

(2) Corbett — Uttar Pradesh

(3) Sunderban — West Bengal
(4) Periyar — Kerala

Sanctuary  is
located at A,
(1) Udaipur
(2) Pali
(3) Dholpur
(4) Rajsamand
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125. R asNaTemR IF A afaaars ? | 125. Which one of the following

hormone:- is secreted !'from

(1) Afeet intestine ?
(2) dargars 3-36 ; (1) Motilin
A (2) PYY3-36
& 3) Gastrin
@) Pt (4) GIP
126. Role of GLP-1 (Glucagon like
126. Gfrqwft-laﬁs;hm% S
(1) W‘ﬁ??ﬂm ‘ ' .(1) Production of Glucagon.
- : (2) Stimulation of  Glucose
(2). 7RI I BT Ll production.
(3) =t Sgfet |FuT T IgEH (3) Stimulation of Pancreatic

: e insulin secretion.
@ G ERe (4) Stimulation and storage of

1 I 3R EEE protein and lipid through
supress metabolism.

127. firmeficial & 3TUR W SF @1 I g 127. Which one of the following pair is

Erik _ not correct as per functional
activity ?
@ st ' (1) Parathymone vs Calcitonin
(2) T wfe eppri (2) Insulin vs Glucagon
(3) wAferm wfa AftugAferm (3) Adrenalin vs Nor-adrenaline
@) TR IRy SR (4) Thyroxine vs Parathyroxin
128. AHAHEAR - 1. I 128. Teeth of human are

2 e 1) Thecodént, polyphyodont,
@ , ST, { heterodont
(2) e, THaREd!, guedt | (2) Acrodont, monodont,

. ) ! ] homodont
@) S o, ] (8) Thecodont, diphyodont,
() e, T, T | heterodont
] (4) Acrodont, polyphyodont,
homodont

=] 26 a4



129.

130.

131.

132.

HIE & 37 1 L T B
L(1) - IR AT Taeieh Bt & |

(2) Ew e mafa &t a3
AT B R |

(3) when HfsmiffersAwmam? |

(4) aﬁwq;amrrﬂa%!v—vﬁwm
TR |

e Wi Tt wfoandt w1 i & |
FH G TS HIHHT S WA R ?

(1) sifpaner fifiem

(2) SifhITeT Fp=

(3) wedt s s &
(4) T BB H gt Fwar

g &% g9 Jfg FRF-1 (IGF-1)
1 FE0 il &

(1) TP
(2) A A

(3) M
(4) I=A

|
|
|
HEASAT T % eI 3T a1 Faieh & i
(1) T, T, T Hf I
(2) T, IO, A |
(3) IR, T, T I

|

(4) VI, I, T
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129.

The best description of organ of
corti is B

. (1) Inner ear cells are sound

130.

131.

132.

amplifiers.

(2) The apex is attuned to high
frequency sounds.

(3) The scala media is filled with
perilymph. 25!

(4) The basilar membrane is
wider at the apex.

B-adrenergic receptor agonists
cause the following ‘effect in
pulmonary function:

(1) Bronchiolar dilation

(2) Bronchiolar contraction:

(3) Decreased
capacity

force,gl vital

(4) Decreased total lung capacity

Insulin like Growth: factor-1
(AGF-1) is secreted from :

(1) Liver

(2) Pancreas
(3) Stomach
(4) Intestine

Mesodermal orginated organs or
tissues are

(1) Testis, blood, adrenal gland
(2) Nephron, testis, intestine
(3) Pancreas, nephron, blood
(4) Testis, nephron, blood



133.

134.

'135.

136.

98 T=IId REH TEH & 99 9/ 8 AT

BT ATEA & Ak JHTT | TS S

IR I i asRaadi o g ?

(1) i Fua ifeEm 9w
SATATEHIHOT o BRI

(2) Tf gE WFE A T WHRG
HTOT ST

(3) UeIfRm & fymesiitersmr & 3fe
AR & HROT

(4) BEi H TR gRT AT |TgES

. AR MR % TR g

ea Frer frema & gt o3 gaen
RFRwrsaIm ¥ fim § @ frw g%a
g YeRia s & ?

(1) Pam : |
2 Tam

(3) ST &mie
(4) QRS @ity

= & & foreht it gEae=iAfE

FHIHATR ?

(1) YR s

Q) Ui

(3) TgeATeIETHS A
(4) FEAEIA

|
|
|
L L L }
(1) ToHeE wrE |
(2) TIHE HTHE |
(3) e =1 &TEw i

|

|

(4) SISHENE AT TE WSHISH 6
|1Eo
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| 133.

134.

135.

136.

A condition, where a arwver
travelling a dark road at night is
temporarily blinded by the h1gh
beams of an oncoming vehicle.

Which on of the best description

may be from followings ?

(1) Temporary  blindness is
caused by Na channel
internalization.

(2) The channel that mediates night
vision transduces olfaction.

(3) Vision recovery involves

rhodopsin dephosphorylation.

Light inhibits guanylyl cyclase

activating proteins in rods.

(4

The “reduced ventricular
ejection” phase of cardiac cycle is
showing by following signal of
electrocardiogram :

(1) P wave

(2) T wave

(8) ST segment
(4) QRS complex

Which one of these deficiency is
causing the hypoprothrombi-
naemia ?

(1) Pantothenic acid

(2) Pyridoxine A

(3) Pteroylglutamic acid

(4) Phylloquinone

Which one of following role is
cholecystokinin ?

(1) Secretion of HCI
(2) Secretion of mucous
(3) Secretion of bile

(4) Secretion of bicarbonate ions
and zymogen



137.F= § ¥ 5 wifcrs Ry & e

138.

139.

140.

141.

TE R ?

(1) fmdRm

(2) TEigAa

(3) dHrwIfeA

4) EmEstE

= gon 3 fa & @ frmehl srftreaw
AT AT B B ?

(1) W3-FEAE T

(2) ImfEm-smfaraa

(3) BIThe o

(4) dmrenfem

W § Afman HE IEATTEEE W
yias g &

(1) =T MR gRT

(2) =TT 91E HEAE gRT

(3) TSI H YT I

(4) & HREEEf g/

¥ &1 i fam =ren @ 2

(1) ¥ed I g Sl wd gt IR
% 1g ! TS & T T

(2) % vt fpra d gfg

(3) % i vt QAR g Feeh R |

(4) HUSIR §ST & Gued o w1 T8
AR | ;

A i AP A TeT & IR HEAd & 7
(1) SA+E '

(2) AVHE

(3) f& % wvea

4) r~aa

137.

138.

139.

140.

(4) Purkinje system

Which one of these metallo-
protein has not consisting of iron
metal ?

(1) Haemerythrin

(2) Erythrocruorin

(3) Haemoglobin

(4) Haemocyanin

Which one of them has greatest
buffering capacity in intestinal
fluid ?

(1) Bicarbonate system

(2) Ammonium-ammonia system
(3) Phosphate system

(4) Haemoglobin

Maximum content of CO,

(Carbon dioxide) is transporting

in blood by

(1) Bound to plasma protein.

(2) In the plasma as bicarbonate
ions.

(3) Dissolved in the plasma.

(4) In the blood cell cytoplasm.

The Starling’s law of the heart

explained that

(1) Relation between the energy
of contraction and length of
the cardiac muscle fibre.

(2) Explain the increase
cardiac output.

(3) Explain the increase in heart
rate produced by exercise.

(4) Does not operates in failing
heart.

in

. Which one of them is known as

pacemaker of heart ?
(1) SA node

(2) AV node

(3) Bundle of His



142.

143.

144.

145.

Bcd Tsh % QA Tgdld ggd &4 <hl
FT 8§

(1) Feeht we

(2) frerft fuf o whem & gRm FeA

(3) TEHEA T GEEHIN 9d % 9
LK

@) R aes % s d

fr=r § @ 3 & <@ ATP e =+t
HATHA B8 ?

(1) anfermAERE

2) Witema

(3) Tifsam I=Ne TS

- (4) Afsam s

frr § @ B a1 oA F wfae

fraes f =TEn FET R ?

(1) V,,, S T Har g, e
Ko

@) V. e wnfaa s g sga
Kn

(3) V,_,, ® fomn wfea wtar wean
Kn

@ KW V.
T §¢

- e wefe

e & @ 9 91 0T dhas QY
ﬁtﬁﬁ%aﬁamﬁmﬁa@ﬁ
m%wﬁmm%?

(1) fe=fm

(2) afefafra amm Tess

(3) I Y IS -

(4) wErd P

| 142.
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143.

144.

145.

During the cardiac cycle,, the
second heart sound is caused by

(1) Ventricular filling. ]

(2) Vibration in ventricular wall
during the systole.
Closure of aortic
pulmonary valves.

Closure of
ventricular valves.

and

3

auriculo-

4

Which one of the drugs block the
ATP synthase ?

(1) Oligomycin

(2) Paracetamol

(8) Sodium azote chloride
(4) Sodium benzoate

Which one of them explaining the
competitive inhibitor of an
enzyme ?

(1) Decreases K with affecting
theV .

(2) Increases K, without
affecting the V.

(3) Decreases K, without
affecting the V__

4 K, and V_, affecting
differently.

Which - one of them

gastromtestma.l signalling

substances . is released by

sympathetlc nerve terminals and
decreases intestinal secretions ?

(1) Histamine

(2) Vasoactive intestinal peptide
(8) Gastrin:releasing peptide
(4) Substance P
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147.

148.

149.

150.

. A AETIH BN 7

Qﬁﬁxmgmamhw%g Hifsaw

Q) ﬁ%aﬁawqﬁmw
(2) SIS THe H1IGEW
@) TR NSy
(4) SEIT R wfiye tRaga

% I smmmw # few
ﬁﬁaﬁﬁm:ﬂﬁmﬁm%l '
(1) forde
Q) T =
Q) ffmB,,
(4) f=afmD

e Tiee JEar A e F awa
feuORA TR R 7 ,
(1) TeE) HIusT

(2) "EERm C

(3) "EAwM B

(4) ®STER Q

feaiasRwmgmad e ¢

(1) 3F=ATRft 3TEHT HINBT — A

Q) $-PfH  ~ TTHEOIH B
Jegs-1

3) Wi - MRF  IEHes
TAILTSE

(4) TR HfwHT = mszﬁl'ﬁr
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TS Bg ST R 2 ,

(1) S

2 mmm

(3) ey wafera il -
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146.

147.

148.

149.

Na®* is required for absorption of

which of the following substances

by the small intestinal

epithelium ?

(1) Apical glycerol uptake

(2) Apical dipeptide uptake

(3) Basolateral glucose transport

(4) Basolateral amino  acid
transport

Micelle formation is necessary for
the intestinal absorption of

(1) Glycerol

(2) Bile acid

(8) Vitamin B,,

(4) Vitamin D

Which one of them is third
electron acceptor in electron
transport chain ?

(1) NAD Coenzyme

(2) Cytochrome C

(3) Cytochrome B

(4) Coenzyme Q

Which one of the followings are
incorrect paired ?

(1) Pancreatic alfa cell -
Glucagon

(2) K-cell * — Glucagon like
Peptide-1

(3) L-cell — Gastric inhibitory

polypeptide
(4) Kuffer’s cell — Cytokines

. Which one of part attributed to

concentrate urine in mammalian
kidney ?

(1) Bowman’s capsule"

(2) Proximal convoluted tubule
(3) Distal convoluted tubule

(4) Henle loop
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